LAST TEST

1. a.You want to calculate the total length of highways (line) crossing flood risk areas (polygon) = overlaps
b. You want to identify the city neighborhood (polygon) in which a series of bus stations (points) are located

-> contains
c. You want to select all trees (points) that are planted within a certain parcel (polygon) = inside

d. You want to find out the percentage of deforested sports (polygon) that are located on forest protection
areas (polygon) = overlaps
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The following table shows some characteristics of ore sensor of Sentinel 3

~ Band w::;::;‘h Bandwidth Resolution
(nm) (nm) (meters)
| s1 554.27 19.26
52 659.47 19.25
‘ s3 868 ol
sa 13748 20.8 R
ss 16134 ] 6068 |||
6 22557 50.15
s7 374211117111 398
s8 10854 776
s9 120225 905 1000
R 3742 398
2 10854 776
60 Visible | Near-infrared Mid-infrared,
g
8
&
<

T T T T T T T T T T T
05 0.7 109 1.1 131156 117 1.9 2123 25
Wavelength (um)

You are interested in the detection of Fire of a certain tree species having temperature are of 527C when
burning

Among the available bands, what is the best wavelength do detect this fire? S7
You need to build a NDVI ‘images]‘ Which of the following bans you do not use? S4
The sun irradiance reaching the ground in Band S7 is 4.5 watt/m2

The emission of a Pixel 1 on Earth having a temperature of 310 K with an emissivity of 0.98 in the same band
is 0,83 watt/m2. You are now looking at a daytime image of band S7 of pixel 1. The value of radiance is the
pixel is predominantly the emission of the pixels

The emission of the pixel

4. Select whether the following statement is true or false

The real body emissivity = 1 — reflectance in all wavelength (FALSE) The Stefan Blotzman equation represents the
total emission of the blackbody in the thermal range (FALSE) The frequency and the wavelength are related only
by the speed of light (TRUE)

The skin temperature of an object depends on the wavelength the object is being observed with (FALSE)

The skin temperature of an object can be calculated only if the emissivity of the object is known in the band of
the instrument and the incoming longwave radiation reaching the object and the outgoing longwave radiation
leaving the object is also measured with the same instrument (TRUE)

| Commented [AW(SMGW 1]: Vegetasi
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What kind of information is directly shown, or it can be deducted about this sensor?

Spatial Characteristics ? Yes

Radiometric Characteristics No

Spectral Characteristics? Yes

Temporal Characteristics? No

IFOV? No

FOV? No

Electromagnetic spectrum range of all single bands? Yes

For the S2 Band of Resolution of 500m is better represented with the Ground Sampling Distance of the
Ground Resolution Cell (GRC) / GSD? GSD

TSm0 oo0ow

1011.00-13.00
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TR R

1112.40-14.40

In the graph you find the transmissivity of the atmosphere as a function of
wavelength. In the table you find the bandwidth of the MSG Satellite Sensor.

You are interested in the study of the land and not in the study of the atmosphere. Out of the 12 bands of MSG, what
bands do you use for your study?

2> 14&7-11
=>» Karena sisanya gaada penyerapan dari atmosphere



7. A topographic map with a map scale of 1:10.000 has been registered using 4 grid intersection points. The root
mean square error (RMSE) of the map registration is approximately 20 meter. Is the level of error acceptable?

1cm:10000cm,1cm:1km, 100 m
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Dissolve nodes into vertices (H)

Break Crossing Objects > C

Erase dangling objects or overshoots > G
Erase duplicates or sliver lines > A
Dissolve polygons - D

Snap clustered nodes > F

Extend undershoots 2 E

Erase short objects > B

Sm o o0 o

9. The RMSE of location given by the system during the process of georeferencing corresponds to :

- The overall location error of the selected GCP’s

10. A cubic convolution geocoding can be done over landcover (FALSE)

You are making a product derived from Remote Sensing. The product quality is very much dependent on the original
Diginal Numbers of the image bands. The product is ready after a long chain of image operations. The product is
ready after a long chain of image operations. The product must be geocoded to be offered to the people. Your boss
comes and tells you: “Do the geocoding at the geocoding at the beginning of the process so sthe final product is
accurate and North Oriented.



Is the statement True? (FALSE)

What is the purpose of an orthophoto recitification ( To create image free on relief displacement)

11. Define which statements are correct in the following list.
Select 3 correct answers.

- Re-measuring the ITRS all the time is needed because of the tectonic plate motion and the addition of new
control stations

- Flattening and semi-minor axis together, can be used to define an ellipsoid.

- Geocentric Coordinates are also known as 3D Cartesian Coordinates

12.
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13. Blackbodies that receive radiation can sustain a constant temperature due to the emission of radiation
Coffee appears to be black because of absorption of light

Milk is white due to scattering of radiation

Since one cannot look through them, the transmission of light by both milk and coffee must be very small

14.
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- 4 Relations, 3 Tuples: Database Instance
- Schools.IDCode, Region.RegionID : Primary Key

16. 2 statements about RDBMS
- Data Manipulation Language is used to query a database

- A Database schema is a formal description of database structure

17.
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SELECT A.”Name”, B. “Name” as region

FROM “Airports” as A, “Countries” as B, “Arrivals” as C

WHERE A”ID” = C”ID” AND B.”Code” = C”"Code” AND C."Visitors” < 500



18.

There are actually 2 data variables to be distinguished. The natures of these data variables are:

= Qualitative Nominal (LAND USE/ DAERAHNYA) + Quantitative Ratio Absolute (Number of Cars/ Truck)



The visual variable chosen for the data variable “number of trucks per day” should create the following perception
for it’s measurement scale Quantitative

For showing the data variable “number of trucks per day” the visual variable used is Ratio Relative>
Value/Size/Texture

The cartographic choices made as listed above are, according to the graphic grammar theory

Sub-optimal, a proportional line map should have been used

20.

X 0.3/03pts
Question 20 |

The cartographic communication process was summarised as “‘How do | say what to whom, and
is it effective?” (a term coined by Prof. Koeman in 1974). Which part of this process (and thus,
which part of the sentence) does the Graphic Grammar (as first elaborated by Jacques Bertin in
1967) describe?

do 1'5ay

and is it effective?

Question 21 05/¢

Use common knowledge on statistics, visualisation and efficient and effective contrast
enhancement to answer the following question.

Imagine you have the following image when you select local minimum and maximum of the
current extent for contrast enhancement.

You use other options to calculate the minimum and maximum for the contrast enhancement:
Cumulative count cut using 2% and 98% and Mean +/- 2 standard deviations. Select the only
21 correct answer from the list.
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cancels a sele

‘non-irrigated crops would have a much higher temperature than healthy ir
thermal radiometer with the emissivity fixed to 1,

the contact

[and of any body is a property of its surface.

imigated crop is very close to 1.
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10.

11.
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IS you create. the better your registration will be-
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of the system (si Q

from the drop-down lists.
[Select] -

.'unyouuseMeRDDmchuoominmsvstem?% [ select] -

do you need the Ellipsoid (or spheroid) to make the georeference? No

nate system to the raster?

|

[Select]

transformation model. What is the minimum number of control points to have

er map. One of the small features in the landscape represented
Z of the apex. Which point is more convenient to use
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19.

20.

Same as 3 column in a table.

 that refers 1o an identifier in another table.

FactoryTypeA
Factory Type 8
Waterway

tuples willthe following spatial query return.

) ST_Distance (f.geom, y.mzt‘f}‘l
i




is null)




clow. They are all based on the same data but visualized in a completely different way. The data depicted is tt
Use your knowledge of cartographic grammar and select the correct answers from the drop-down lists,

Sl } ‘
 data the visual variable [ Select] ™ is used. This visual variable was a | [ Select]

the visual variable | [ Select] | ¥ isused. This visual variable was a | [Seket]

visual variable | [Select]

v |is used. This visual variable was a | [ Select]
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such that all pixels get




PREVIOUS TEST
11. Point 1 ga perlu karena karena topographic udh digeocode, Point 10 ga perlu karena

GSD : zoom in nya seberapa, rumusnya F/H, titik terkecil di citra yg bisa dilihat
GCP : rektivitasi citra

7. GSD = H/F, GSD makin kecil makin teliti, cm/pixel
F= 1/IFOV
H = GSD/IFOV

H = GSD/IFOV =5/ 0.002519
H dari ground, h kecil dari mdpl

8. a.Jawabannya TIR : detect suhu, Panchromatc camera = resolusi lebih bagus dari TIR Camera
b. Night — before sunrise = biar gaada gangguan panas dari sekelilingnya
c. Winter = makin dingin, makin bagus

transmit + radiance/ reflectance + absorption =1
Opaque = gaada transmission nya = transmission nya 0

Absorp sama reflectance nya aja

Longitude = X

Latitude Y

15.
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